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QUESTION NO: 1

You are a system administrator responsible for an installation of Hitachi Dynamic Provisioning (HDP) and want to receive
threshold messages indicating that a user requires more space. Which Hitachi Device Manager CLI command do you use?

A. ListPool
B. ShowPool
C. GetAlerts

D. DPGetVols

ANSWER: C

QUESTION NO: 2

You are using Hitachi Storage Navigator to create a LUN on a VSP storage system. After completing the operation you
observe that the LUNs you created are not listed. Which action would enable Hitachi Device Manager (HDvM) to see these
LUNs?

A. Log back into Storage Navigator and re-create the LUNs.

B. Perform a host refresh using the ResetHost command.

C. Execute the HDvM CLI command SetLunRecovery.

D. Refresh the storage system.

ANSWER: D

QUESTION NO: 3

You are managing a Hitachi Device Manager environment and want to use the Element Manager to configure the Fibre
Channel ports on a Hitachi VSP storage system. Which two Fibre Channel port operations are permitted? (Choose two.)

A. Reset the port.

B. Set the connection type.
C. Set the port attribute.

D. Set the port offline.

ANSWER: B C
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QUESTION NO: 4

A Hitachi Dynamic Provisioning pool has exceeded a threshold and the administrator wants to reduce the pool usage below
the threshold setting. How would this be achieved?

A. Expand pool volumes.
B. Set Host Mode option 40.
C. Use Zero Page Reclaim.

D. Shrink some DP Vols.

ANSWER: C

QUESTION NO: 5

You want to restart the Hitachi Command Suite (HCS) services running on a Windows server. Which tool would you use?
A. Windows Services panel

B. HCS GUI

C. CLI command "hcmdssrv"

D. Windows Task Manager

ANSWER: C

QUESTION NO: 6

When enabled, what does the path health checking feature of Hitachi Dynamic Link Manager (HDLM) do?
A. It causes HDLM to rotate 1/Os across all healthy paths.

B. It causes HDLM to automatically check the path status at regular intervals.

C. It enables the last I/O recovery routine to execute upon path failure.

D. It logs path status information and generate path health reports.

ANSWER: B

QUESTION NO: 7

You use Hitachi Device Manager (HDvM) to manage your VSP and HUS storage systems. Within the HDvM GUI, in which
two locations would you perform storage allocation tasks? (Choose two.)

A. Resources
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B. Administration
C. Logical Groups
D. Tasks

ANSWER: AC

QUESTION NO: 8

You want to backup the HiRDB database of your newly installed Hitachi Command Suite (HCS) server. Which two methods
are available to you? (Choose two.)

A. Use the hcmdsbackups command specifying a directory for the backup data.
B. Open the Utility tab in the HCS GUI and select the Backup Database function.
C. Run the HIRDB backup wizard and select the backup format and destination.

D. Use hcmdsdbtrans /export command to export the database in CSV format.

ANSWER: AD

QUESTION NO: 9

You want to log in to Hitachi Device Manager (HDvM), but an Internal Server Error is displayed in the Web Client. You can
ping the HDvM server, but no other operations can be performed. When troubleshooting, which two settings should you
verify? (Choose two.)

A. That the firewall is open for port 23015.
B. That the HDvM's licensed capacity is sufficient.
C. That Common Component services are running.

D. That the memory heap size is sufficient.

ANSWER: CD

QUESTION NO: 10

You are working within a Hitachi Device Manager environment. What are three benefits of implementing Hitachi Dynamic
Provisioning (HDP)? (Choose three.)

A. Data written across multiple disks optimizes performance.
B. User capacity can be allocated before storage is purchased.

C. User data is automatically mirrored to secondary storage.
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D. HDP volumes can be dynamically shrunk.

E. HDP volumes can be dynamically expanded.

ANSWER: ABE
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